Economics 102

Answers to Homework #2
Spring 2007

(a) Setting demand equal to supply, you find that P=5 and Q=5 in equilibrium.  Then,



Consumer Surplus (CS) = (1/2) * 5 * 5 = $12.5



Producer Surplus (PS) = (1/2) * 5 * 5 = $12.5



Total Surplus (TS) = CS + PS = $25

(b) Plugging P=3 into the demand and supply curves, you can find that consumers want to buy 7 computers and domestic firms want to supply 3 computers at this price.  So they will have to import the difference, which is 4 computers.  To see who gains and who loses from trade, you need to calculate consumer and producer surplus.  Doing this, you can find that CS = $24.5 and PS = $4.5.  So, comparing to the answers in part (a), we see that consumers are better off and producers are worse off.  Adding CS and PS, we see that TS = $29.  So the total surplus in the economy has increased after opening to world trade.
(c) At a price of $4, consumers want to buy 6 computers and firms want to sell only 4 computers.  Then, we know that they must be importing 2 units.  We know from part (b) that consumers ideally will want to import 4 computers.  Since they are only importing 2 now, they must be restricted by the quota.  Hence the quota limit is 2 computers.  After the quota is imposed, CS= $18 and PS = $8.  To calculate quota rent, see that they are importing 2 units and the price is $1 above the world price.  So we know that the quota rent (QR) is $2.  In this case,


TS = CS + PS + QR = $28

The total surplus before, in part (b), equaled $29, so it has decreased by $1.  So we know the deadweight loss is $1.  Equivalently, if you draw the graph, you can identify the deadweight loss triangles and calculate the areas of those triangles to find deadweight loss. 
(d) The price was raised by $1 by the quota, so the tariff has to equal $1.      
(a) This is an export, so it is part of GNP and GDP.

(b) This is part of GNP and GDP.

(c) This is not part of GNP or GDP because it is the sale of a used product.  It was counted as part of national income when it was sold as a new product.

(d) This is not part of GDP because the factory is located in Japan.  It is part of GNP because Bob is an American citizen.
(e) This is part of GDP because Yuya is working in the US.  It is not part of GNP because he is not an American citizen.
1. The following gives the value-added by each person in the production process:

Farmer: 10 – 0 = $10


Miller: 15 – 10 = $5


Baker: 25 – 15 = $10

Adding these up, we see that the total value added is $25.  Thus the production of bread adds $25 to GDP.

(a) Calculate real GDP per capita by dividing the real GDP in each year by the population in that year.
	Year
	Real GDP
	Population
	Real GDP per Capita

	2004
	200
	100
	2

	2005
	300
	150
	2

	2006
	350
	200
	1.75


(b) Growth rate of real GDP = (350 - 200) / 200 * 100% = 75%
(c) Growth rate of real GDP per capita = (1.75 – 2) / 2 * 100% = -12.5%

(a) True.  Since Susan is 16, she could be considered part of the civilian labor force.  However, she is not because she is still a student.
(b) False.  This will change the unemployment rate.  When Joe was in the military, he was not counted as part of the civilian labor force (and therefore was not counted as employed or unemployed).  Now he is considered employed.
(c) True.  When Tim was in jail, he did not count as part of the civilian labor force.  Since he is looking for a job, he is now considered unemployed.

2. See book or lecture notes.
